
SAP ABAP table TRSTIT {BRST assignment sender -> receiver: Receiver texts}

TRSTIT

MANDT [CLNT (3)]

LANGU [LANG (1)]

STOOL [CHAR (2)]

SAPPL [CHAR (4)]

SSUBC [CHAR (2)]

FCCLS [CHAR (1)]

SOTYP [CHAR (1)]

SONAM [CHAR (54)]

SERNR [NUMC (4)]

T000

MANDT [CLNT (3)] TRSTIT-MANDT = T000-MANDT 0..N

0..N T002

SPRAS [LANG (1)]

 TRSTIT-LANGU = T002-SPRAS 
0..N1

TRSTI

MANDT [CLNT (3)]

STOOL [CHAR (2)]

SAPPL [CHAR (4)]

SSUBC [CHAR (2)]

FCCLS [CHAR (1)]

SOTYP [CHAR (1)]

SONAM [CHAR (54)]

SERNR [NUMC (4)]

 TRSTIT-SERNR = TRSTI-SERNR 

0..N

1


